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I. Choose the correct answer.                                                                       (6 Marks)                                 

  a. 9 parts out of  50 equal parts is __. 
 

  

a.  
9

10
                                  b.   

50

9
                                       c.  

9

50
      

             

  b. 6

15
  -  

2

15
 = ___. 

 
 

 a. 
8

15
                                  b.  

4

15
                                              c. 

15

4
 

 
 

  c. 15 rials = __  baiza. 

 

 a. 150 bz                          b. 1500 bz                                c. 15000 bz 

 

 

  d. 21.300  rials is __ baiza. 

 

 a.  21300 bz                     b. 213.0 bz                               c. 21030 bz       
         

  e. 35 m = __cm. 

 

a. 3500 cm                       b. 350 cm                                 c. 5300 cm  
 

 

  f. 23 km 570 m = __m. 

 

a.  23750 m                      b.  23570 m                              c. 230570 m 

 
 

  g. 35650 baiza =__rials __baiza. 

 

 a. 35 rials 650  bz            b. 356 rials  50 bz                    c. 35 rials  600 bz 

 
 

 h.  
1

3
 is equivalent to ___ 

 

a.   
2

4
                                 b.  

3

10
                                        c.   

2

6
    

 
 

  



  

 

i. To convert centimetres into metres, we must_____________the  centimetre by 100. 

 

a. multiply                    b. add                                         c. divide   
 

 

  j. 1

6
  of 24 is =________________. 

 

a. 5                               b. 6                                              c. 4 
 

  k. Distance between your house and school is measured in _____________. 

 

a. metres                        b. centimetres                             c. kilometres 
 
 

 l. 8000 baiza is = _________________rials. 

 

a. 80 rials                       b. 8  rials                                    c. 800 rials   

 
    

II. Do as directed.                                                                                            (8 Marks) 

  a. Arrange in ascending order.          b. Arrange in descending order. 
 

5

12
  ,   

3

12  
,   

7

12
  , 

2

12
                                   

10

15
  ,    

8

15
 ,   

14 

15
  ,   

6

 15   
 

c. Subtract.     
8

20  
  -   

3

20
     

d. Give two equivalent fractions.  
1

5
 = ____  , ____ . 

  e. 
    

 

Convert into centimetres.   8m 45 cm =_____cm. 

  

 f. 

 

Convert into metres and centimetres.   7642 cm =_______m _____cm. 
 

  g. Convert into metres.      5 km 815 m = _____m. 

 
 

  h. Convert into kilometres and metres.  5506 m= _____km _____m. 

 
 

III. Read carefully and solve .                                                                           (6 Marks) 

 

  a. 

 
There were 20 children in a class.  

1

5
  of them were girls. How many girls were there 

in the class? 

 

  b. 

 

 

Rohit has 25 Rials. If he buys a Maths note book for 500 baiza , Science text book for 

3 rials and Hindi text book for 2 rials 300 baiza , how much money would be left with 

him? 
 

  c. Salim got  
4

10
 of a chocolate and Sara got  

5

10
 of it. Who got more? How much more? 



 


